3 (Sem-3/CBCS) ECO HC 1
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ECONOMICS
( Honours Core )
Paper : ECO-HC-3016
( Intermediate Microeconomics—I )

Full Marks : 80
Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following questions : 1x10=10
o SPICIRT Beq il

(a) What is cardinal utility?
HRYRMGS Sepgarfsrer 2

(b) State one assumption of utility analysis.
SorgarfareT AR o1 4/<eT fars |
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What is production function?

Teofme IR fF 2

Define income effect.

1y e g |

What is marginal rate of substitution?

sifoeser AR =7 et % 1 2

What is the shape of indifference curve in
case of perfect substitutes?

o R AHAR CFTe T QIR AT
AP 237

Define expansion path.

SPeepRe #{”d el i |

What is meant by inter-temporal choice?

RIS 1= Ao {6 o ?

Define opportunity cost.

Heial A I fi |

State the concept of ‘shut-down point’ of
a firm.

qB] PR TeATH-Iw T AR Seas
01
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2. Write short answers of the following
questions : 2x5=10

o I b BT iy

(a) What is meant by budget space or set?

TG 7 N iefS 3fereet o g 2

(b) Distinguish between gross demand and
net demand.

T oIfR W BN S o1 ey w9 |

(c) State the two conditions of consumer’s
equilibrium under indifference curve

approach.
fRere @ Repes @R SR w8
ey 4 |

(d) Distinguish between explicit cost and
implicit cost.

AT I S SAPPT IR AT 1207 o7 1

{e) State the concept of optimum firm.

I A SHER GRNCE Sy 340 |
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3. Answer the following questions (any four :
5x4=20

oY AR el o (R e wifady)

(a) With the help of indifference curves,
distinguish between normal goods and
inferior goods.

R QYR SRS Fefie Ea W [
AR T <N Ay 40

(b) Explain the concepts risk averter, risk
lover and risk neutral individuals.

] SRS, NP SECARl W <@ R
e R I 40 |

(c) Briefly explain the concept of returns
to scale.

e TR TR RCH BILF <101 1 |

(d) Briefly state the characteristics of
perfectly competitive market.

o eifcafronere IaR (AFRPE B o |

(e) Explain how a consumer can reduce risk.

TSGR (A XI5 AR #IKS, T T4 |
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(f) Derive average fixed cost curve from total
fixed cost curve.
P BT W QIR 7@ e BRI @ R
9|
4. Answer the following questions : 10x4=40

TR AR Beq

(a)

(b)

24A/83

Define indifference curve. Explain their
properties. 2+8=10

fReeers @R e for | R GFEEPTR m
1 |

Or / g

Critically discuss the law of variable
proportion. 10

ARSI were  RMEGT STHCATATSIE
SCAA 4 |

What is least cost combination of inputs?
Discuss how least cost combination of
inputs is attained with the help of
isoquant and isocost lines. 10

PSR TP e 2 S ({91 A
LA (@R FZFS fHCq TPAST JLH== A
=S 3 T, HCEAs 41 |
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Or / =991

Explain inter-temporal choice of a
consumer with the help of a diagram. 10

TCOISM (SR SRBSTETS 7 RE foas
ISR HESE N
Explain short-run equilibrium of a firm

under perfect competition. 10

A afecafrers a3 Afod FFFETe T
SR S FC, I 74 |

Or /

- What are isoquants? Show the

increasing, constant and decreasing
returns to scale with the help of
isoquants. 1+3+3+3=10
FF-BRAM ([ 2 - (¥R TS
T, T SE FREPTA SRATTA 19
AfewTe s |

Define substitution effect. Explain
Slutsky substitution effect with the help
of diagram. 2+8=10

sfoes R g a1 wmefhe e Ree
foqq =11 W 40|
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Explain the concepts of total fixed cost,
total variable cost and total cost. How are
they related to each other? Explain.

2+2+2+4=10

T &, P AReER 79 W g I el
T PN 1 GRIAYR T IR I 34T

* K Xk
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